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Cosmic Ray Run (2002/Jan)

e Just after pp-run

e The mean deposited energy
In atileis~80MeV
— Need to decrease the threshold

* Increased the multiplicity
threshold into 5

« After repeating the threshold
and mask scan, the threshold
for 2x2 was set to

— 19 (~0.05MeV)

-> The multiplicity threshold
worked to reduce the noisy
channels

T Mu-W1

* Last event - ADC counts |

35—
30
25
205
15
10

LastfuADC
Mant =81
. XK= 3545
Mean ¥y = 1887
= 13,64
= 9.668




|Ancmm§mms| h_adc
x10 Ment = 1445404

Mean = 114.3

Cosmicray = iy
anaysis

» Thedatataking for only s
half day zmu:J “' -HLH,
— 1.4 M hits D-’- .
» 18 channels

D 100 200 300 200 500
b ~100k traCkS Channel entries ADC{50,200) ]

E-IIFD T

h
Ment = 781712

* Not enough ADCs s00/- i

— 100 hitson averagefor ~ *°C

W2 sector or
— 30 hitsfor others ::

» Thefitting ispossible
for only W2.

ul:l 2000 4000 SO0O0DD 8000 10000 12000 14000



cosmic MIP{ch) vs Gain | h2_cosmig_gain
P ¥10° | Herd = B18

Cosmic ray ace|- i
result ot
» Can seethe good oo
correlation between sor|
_ Galnfactor |:IIII 20 40 60 g0 100 120 140 160 180 200

| cosmic MIP vs colligion MIP |

_ Cosmic MIPADC " f‘{“ﬂ
« Can't seeany, sl ‘2:; “oaie

— Cosmic MIP ADC x b
Gain factor 05

— Collision MIP ADC x 0
Gain factor 02| e

n 1
0 o1 002 002 004 005 006 007 008 0D 04



Plan for the cosmic ray
calibration

 80MeV for onetileishardto trigger!!!

 Oneplantoincreasethe HV.
— Need laser calibration.
— What factor do we need?

e |t depends on how well the trigger turn-on
curve will become sharp.



Enable/disable Test at Test Bench

o Last week, | reported one ASIC board showed strange
behavior of enable/disable switch
— One 2x2 tile showed noise after disabled.
— Other 2x2 tiles showed small response to the input test pulse
even after disabled.
 Thisweek, | checked other ASIC boards and did a
threshold scan.

— [Noise Check] and [Response Check]
» Threshold isfixed to 31 when looking at the other ASICs
o Set disable switch for only onetile (2x2 channels)
* Input the test pulse with maximum amplitude for response check

— [Threshold Scan]

* Pick up 2 noisy channels and 1 no noisy channels.



Result from

Enable/disable Test

Scan 16 channels
 O=Hedthy
« X =Very noisy/ Some response
* A =rarely noisy
Result from noise/response check
— 2 noisy channelsintwo ASICs
— All channels shows some response

Noise check with different Threshold
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Summary from Enable/Disable Test

e 2 channelson 2 ASICs became noisy

— After raising the threshold to 40 or 63, they
returned to be normal
e 14channels on 6ASICs shows small
response

— After raising the threshold to 40, they returned
to be normal
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